Manuals+ — User Manuals Simplified.

Home » SYNERGEE » SYNERGEE A-Frame Dumbbell Rack Instruction Manual -

SYNERGEE A-Frame Dumbbell Rack Instruction Manual

SYNERGEE A-Frame Dumbbell Rack Instruction Manual

Contents

1 Parts List
2 Assembly
3 Documents /
Resources

Parts List

1. Stabilizer (2pcs)

2. Middle Frame (1 pcs)


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/synergee
https://manuals.plus/synergee/a-frame-dumbbell-rack-manual.pdf

X

3. Top Stabilizer (1 pcs)

4. Main Frame (2pcs)

C. M10 Washer (24pcs)



D. M10 (1 2pcs)

Assembly

Step 1

Connect the 2 stabilizers(#1) to the middle frame(#2) using 4x m10x75(B), 8x M10 Washer(C) and 4x M10
Nuts(D). Tighten until secure.

Step 2
Connect the 2 main frames(#4) to the stabilizers(#1) using 4x m10x45(A), 8x M10 Washer(C) and 4x M10

Nuts(D). Lightly tighten. Proceed to attach the top stabilizer(#3) to the 2 main frames(#4) using 4x m10x45(A), 8x
M10 Washer(C) and 4x M10 Nuts(D). Tighten all screws from step 2 until secure.



SYNERGEE

Documents / Resources

SYNERGEE
Rrame Dumboe

SYNERGEE A-Frame Dumbbell Rack [pdf] Instruction Manual

A-Frame Dumbbell Rack, A-Frame, Dumbbell Rack, Rack

Manuals+,



https://manuals.plus/m/0b78a9cf65c13aad37419753574e4f3e6f933e3a2cce149b7b6a87de50bf7b8f
https://manuals.plus/m/0b78a9cf65c13aad37419753574e4f3e6f933e3a2cce149b7b6a87de50bf7b8f_optim.pdf
https://manuals.plus/

	SYNERGEE A-Frame Dumbbell Rack Instruction Manual
	Parts List
	Assembly
	Documents / Resources


